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MORNING SEssioN

1. Suhas travelled 15 km towards East, then

turned towards North & travelled 15 km and
turned towards West and travelled 15 km.
How far is he from the starting point ?

T d [ A 3R 15 el a4,
R 3eR &1 3R g 15 fedr amr
# AR BT aRes & 3R g 15
&l o= & | a7 wREe o @
fraelr T & 2

(A) 15 km /15 Rref
(B) 30 km /30 faY
(©) 45 km /45 RRsiy
D) 0 km /0 fralY

. By whom reconstruction of Sthaneshwar
temple of Kurukshetra was done ?

FET & TURRR Alegx & AT
fAerfaf@d & @ s qarr samr mar
?
(A) Maratha Sadashiva Rao
ST WeIfla 19
(B) Chandragupta Vikramaditya
(©) King Harshavardhan
ST g¥ageT
(D) Prabhakarvardhan

THTRIAE

. If @ man’s rate with the current is 12 km/hr
and the rate of the current is 1.5 km/hr, then
man's rate against the current is

Ife e afFd fr avT F @iy afy 12
fRAT / guer & 3T arr & afay 1.5 fpet /
HUST &, o ORT & % afda & afy &

(A) 9 km/hr /9 T3t / goeT
(B) 6.75 kmv/hr /6.75 fHHY / Toer

(C) 5.25 km/hr /5.25 faft / goeT
(D) 7.5 kmvhr /7.5 ey / goeT

. The Bapoli falls under which district of

Haryana ?

T EREOT F e Y & s
e g ?

(A) Ambala / 37FaTeT

(B) panipat / grefiga

©) Karnal / ShdaATel

(D) Jind / S

- Select the substitution that best expresses

opposite meaning of the underlined word.
The officer had issued explicit instructions to
his staff.

(A) inadequate
(B) elusive
(C) ambiguous
(D) queer

6. What causes common cold ?

ATIROT HEJ-FehH & HROT FAT § ?
(A) Bacteria
AR (Shramop)
(B) Fungi
I (HITH)
(C) Virus
FaTy (arst)
(D) Protozoa
BIEEIC)

7. Which of the electrical instruments have to be

connected in the same manner for
measurement ?

ﬁm’rﬁa—crﬁﬁﬁmﬁag?rmﬁ
AN & o0 3 & & F37 g AR

?
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(A) Frequency meter and P.F. meter
ngfed AN g P.F. #ex

(B) Voltmeter and frequency meter
dreeardt 7 mgfea Ard

(C) Voltmeter and power factor meter

aﬁm@ra%ﬁrww

(D) Wattmeter and voltmeter

areHey g diecHiey

8. Large value resistances are expressed in kilo
ohm and mega ohm. How can 2800 ohm
resistor be expressed ?

g3 AR g 9o A frelr 3\ g Few
A # usg Far sar & | 2800 HH
T = Fa sgea 1T 51 gar § 2
(A) 28000

(B) 2kQ

(C) 2.8kQ

(D) 0.2800 kQ

9 The First Governor of the Haryana
was
RO & 9UH ToIUTT i FATT T ?

(A) Shri Devi Lal
A gdretTer

(B) Shri Bansi Lal
A SEreTer

(C) shri Dharmaveer
s el

(D) Shri Satya Pal
A g9

10. In which city of Haryana the famous ancient
temple of Mata Shitala is situated ?

A fider &1 9fdg Ul Afeey
g & fFg TR A § 2

(A) Narnaul / TGl

(B) Gurgaon / ?.I,E'JT\IJE'
(©) Rewari / Xars
(D) Hisar / fRar

11. Who is the writer of novel "Mati ka Mol" ?
"AIEY H A" IGCATH & oGh Pl &
?
(A) Madhukant
IR
(B) Jaynarayan Kaushik
SAARIT HifrE
(C) Mohan Chopra
AgeT ST
(D) Santosh Singh

ey g

12. Polarization in a primary cell can be removed
by
TR ¥ # yEvr F R gerr o
il § ?
(A) coating the electrodes of the cell

T & SFels FT oAU Flh

(B) chemical action
TIfAE T

(C) discharging the cell
T # R
(D) disposing the cell
el &7 e e

13. Which one of the following acts as
depolarizer in a dry cell ?

fAifhd & @ Fl9 W TF JFT A
fayas & §7 7 FF FIAT § 2
(A) Manganese dioxide
HAller sFaEs
(B) Zinc chloride

S Fellliss
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(C) Ammonium chloride

HATIH FoRise
(D) Carbon powder
e U3

14. Sweep of ceiling fan refers to

feler b7 & $hema (=) & FAT e
g7
(A) radius of circle formed by its rotation.
$HF HOIA { T A Jed H
Bear
(B) double the length of the blade.
SIS A S { GIT

(C) the distance from centre of motor to tip of
the blade.

AT & ALT F &l F A H gl

(D) double the distance from centre of motor
to tip of the blade.

AT & AT ¥ w5 F AF B g
® g
15. The resistance of the earth is
gedy & IRy fhcde & 2
(A) 1 MQ
(B) 20 MQ
(©) infinite / 31t

(D) about zero / FaT$TT e

16. Poems of the poet Pushpdant are related
with which sect ?

HT TSUeed Hr WA FE 9¥ @
T § ?

(A) Jain / =7

(B) Bauddha / sig

(©) Arya Samaj / 3 TATH

D) sufis / Y 9y

17. Agriculture based food park is situated in
which of the following ?

PN 3RS T3 T SRR § we
T § 2
(A) Narwana
oAdTleT
(B) saha
T
(C) Dabawali

SEICE]E

(D) All of these
54 Tl TUy= W

18. The gain of a CE amplifier is highest at
CE Jauier & offetl Fafoa sl gl & 2
(A) mid frequencies
A Jrgfeadt )
(B) low frequencies
fae=t smgfeaat w
(C) high frequencies
3T9 Jgfcaal )
(D) all frequencies

el g icadt W

19. gordt org orsg @it @R
(A) F=hrpor
(B) S fegraor
© F=draeaT
(D) &hfzgahtor

20. The mass of material deposited over an
electrode is

gaa—a's'waﬁqaﬁmawm{ﬂﬁ%

(A) proportional to voltage

aﬁma:mﬂtrrﬁa;

(B) proportional to time only

el TG & GHIIH
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(C) proportional to current only

HIST FNE & TARIIAE

(D) proportional to quantity of electricity and
E.C.E.
feqd @ ECE # = %
AT

2. 1 grenr AR =T & e ¥
HIS FT 97 AT GeoT TFATET ¥ ||
o1 T & NG H T AT L 2

22. Who was the main leader of Non—Co—
operation Movement in Haryana ?

HEGANT 3eelelel & TG AaT gRATOT
H Bl & 7
(A) Mahatma Gandhi
HEICAT ey
(B) Lala Lajpat Rai
CICIECIE RG]
(C) Raja Rammohan Roy
TS TAANGT TG
(D) Surajmal
qITHT

N

23. When the Pradhan Mantri Jan—-Dhan Yojana
campaign was launched by the Prime
Minister Narendra Modi ?

ST AN AU B @I e
Fr S Aoy ?
(A) 28 August, 2014 /28 3rTEd, 2014

(B) 15 August, 2014 /15 37TET, 2014

(©) 2 October, 2014 /2 ey, 2014

(D) 26 January, 2016 /26 STeTa, 2016

24. Oxide coated cathode s used in 31‘1?813‘5’
AT T & 3wer rae R smar
g7

(A) Low power tubes
T araw 2w

(B) Medium power tubes
HEIH G &9

(C) High power tubes
3T 9IS

(D) Medium and high power tubes
HYIH q 3= 91a¥ ??E'

25. Hammers are classified
gt : Fg 3R @ i fmam
Sar g 2

(A) as per their hole and weight.
3% O F R

(B) as per their frame's shape and weight.

39% BH FT ISR T HR

(C) as per their heel's shape and weight.
3+ E T IFR T AR

(D) as per their handle’s length.
3% g5l T SES
26 3o AfReT B FeT W Ry & 2
(A) e e, e

27. Afuse wire should have
TS dR H FI7 g AR ?
(A) low specific resistance and high melting
MASTER



point.
et RAflse gfky 3 3eg URGIC

(B) low specific resistance and low melting
point.

ﬁmﬁ@wmaﬁm
IToTeTTeh

(C) high specific resistance and high melting
point,

3%g fafdrse 9farler 3 3= aremiE

(D) high specific resistance and low melting
point.

F=v faflse gfayr 7 Pt sreetis

28. Eligible minimum age for the Governor is

TS & T YFast g Frezrar &
(A) 45 years /45 a§
(B) 35 years /35 a§
(©) 25 years /25 q§
D) 30 years /30 g§

29. Which of the following motors is suitable for
high starting torque ?

Peifea & & @l @ Aew yqeah
5 TA-HEYT & AT 3ugeRd ¥ 2
(A) Shunt motor
T Aiex
(B) Cumulative compound motor
T i Aex
(C) series motor
¥R Arex
(D) Compound motor

A Al

30. Which part becomes modified as the tusk of
elephant ?

el BT AT Tl & Isted & T & Teorar 2

?

(A) Canine / I&sTh

(B) Premolar /3ITdTR
(C) second incisor ECRY aﬁﬁ;
D) Molar JSE L ET

31. ¥ 800 amounts to ¥ 920 in 3 years at simple
interest. If the interest rate is increased by
3%, it would amount to how much ?

X 800 & TR 3 a¥ & WruRwr sue e
§R 92 g ol ¥ | AR e @ A
3% gha & S, @ FE AR e @
StTefy ?
(A)X 1056
B)T 1112
(€)% 1182
D)X 992

32. The metal from which the electrons are
emitted is called

dE U] FAT Fgorc § oY ol
Ieatata g & 2
(A) An emitter

3cqeh

(B) A cathode
FUs

(C) An emitter or a cathode
3cHo® AT FYI3

(D) None of these

S q S A

33. Which tool is used for removing a taper
shank drill from the socket ?

Aihe F & TR 9 e Moo & @
foe T T gEcTer AT ST ¥ 2

(A) spanner / BT

(B) sleeve / TohT

(©) Tang / &7

D) prift / %R
MASTER



34. The curve representing Ohm’s Law is

3T FraA F Geflid &t arer a7 #hy
arg e
(A) a parabola
Wdelq

(B) linear
s

(C) sine function
HigeT Bhelal

(D) a hyperbola

AFfauasT

3S5. Which of the following material is used for
making permanent magnets ?

e # ¥ B e @ syanr
TS 9% S & forw fram oimar & 2
(A) Carbon Steel
el FETeT

(B) Platinum Cobalt
CIfeAd FaTee
(C) ALNICO-V
(D) All of these
¥ welt

36. The simplest way of varying the flux
produced by an electromagnet smoothly in
an electrical device is by

frer fegd suaor #  Regd-des
AN 3cIeT Forerd F 3T A ol
T AIATH TR AT § 2

(A) increasing and decreasing the number of
turns of the coil.

Fed & W N gEIr F Seq T
Larars)
(B) using an exciting coil with number of
tappings.
#$ for & w3 Fisa &
39T

(C) varying the current through the exciting
coil.

3 Fed & @R awe #
ECEIE)

(D) varying the core position of the exciting
coil.

3cdfold @se A wR fRufy
Scelld

37. . ) .
The simple interest on a sum of money is =

of the principal and the number of years is
equal to the rate percent per annum. The
rate percent per annum is

frdT a3 X IR SOy HeT-e1eT

o o¥ A Al & wEr oo
ST & 9fAvd & & R & ar ofy
¥ S X gfaerd &7 & 2
(A)3
(B) 1
3
© ,1
3
D) 3
10

38. The semiconductor diodes can be used for

e IS HT IuAeT RRE faT
forar ST geRar & 2
(A) Half wave rectifiers
37 T ey
(B) Full wave rectifiers
T ey
(C) Half and full wave rectifiers
T qof ar R
(D) None of these
SIH @ HIS TG
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39. The transformer used for starting the high
induction motor is

3T WO Al A T F AU g
SHGRR H 392T fRar ST & 2
(A) auto transformer
HTEr-graTIT
(B) step—down transformer
FU-BB3A AR
(C) potential transformer
fasra et

(D) two winding transformer

al-hSelel ZIARIER

40. Choose the alternative which best expresses
the meaning of the given idiom/phrase.
To take a fancy to

(A) tofall in a trap
(B) to defy

(C) to start liking something or someone very
much

(D) invent by thinking

41. Ravi was always of the good fortune
of others. (Fill in the blank)

(A) miserable
(B) irritable
(C) greedy

(D) envious

42. When was the Indian National Congress
founded ?

ST T A B AT F S
oA ?

(A) In the year 1885 / a§ 1885 3

(B) In the year 1901 / 9§ 1901 3F

(©) In the year 1905 / 9§ 1905 &

D) In the year 1945 / 9 1945 &

43. The number of scheduled caste reserve

constituencies for Lok Sabha in Haryana is

gRAOT 7 o T F AT Feeiad
T & v fFaer &7 3RfEa ¥ 2

(a)2

(B)1

()3

(D) 4

44. Which city is famous for the manufacturing
of Scientific instruments ?

A 3TR0t & AT & v yite
IR FleT AT & ?

(A) Ambala / 3reaTeT
(B) Gurgaon / EIETIICH
(©) Panipat / ar=iraa

(D) Hisar / AR

45. Which river out of the following ends in
Arabian Sea ?

T 7 & =l & a8 3R g &
HATCT gidT g7

(A) Krishna / ST
(B) kaveri / w1y

©) Brahmaputra /a???g‘:r
(D) Narmada / sT3feT

46. Megger is an instrument meant for
measuring

AIX 3THOT  / FIT AT ST § 2
(A) very low resistance.
TE A FTRTE
(B) insulation resistance.
faegae 1 wfaiy
(C) inductance of a coil.

PISeT T 90T

(D) Q of a coil.
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RIS & Q

47. Chhudani Dham is related with the
POl T B HE e AeTgey & ¥
?
(A) Saint Garib Das
T TReere
(B) Saint Ravi Das
T ey
(C) saint Hari Das
ad gRerg
(D) Swami Nityanand

wH fAeTTeeg

48. Choose the alternative which best expresses
the meaning of the given idiom/phrase.
Official counting of the people in a country.

(A) collection
(B) gathering
(C) census
(D) crowd

49. TE I &5 TS Fh 9] I |
ST 36 3R Afaee R Few ||
$H 2le & o i § 2

(A) g

® etz
(© wdrery
(D) #irars

50. The donor type of impurity is

SIdl YR I 3T Pt & & 2
(A) Phosphorous
PIEPRE
(B) Aluminium
werfafasy

(C) Boron

IR
(D) Iron

eiigT

31. Ideally a constant voltage source should have

I ¥ F i deear A F 2
T ?
(A) Infinite resistance
3eld gieRIer
(B) Zero resistance
U= wfarer
(O) Infinite capacitance
3t eniar
(D) None of these

Tt ¥ P o

52. Power factor of an A.C. circuit is equal to
AC ®fhe &1 afFa Iue FaF SR
gl & ?

(A) cosine of angle between voltage and

current.
dIeeT T FE F T For A Fer
(B) tangent of angle between voltage and
current.

decT 9 e F & F@OT &y
T

(C) impedance/resistance.

gfasTeT/afaer
(D) apparent power/real power.

AT qray/IATe gray

53. Which one of the following is not a
maintenance free battery ?

A=frd & @ i @ 8 w@e
HFT AT & 7

(A) Ni-cd

(B) Ni—Fe

(C) Alkaline  Magnesium /
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HeRras
(D) Lead-acid / Hu-ofyE

M- mpw dw gERr A &
oGF Pl §2?

(A) ARG gRYTwg
B) Srreiet gare;
(©) e

D) fRaex

55. At which place Lord Krishna gave the Geeta
Upadesh to Arjuna ?

HIET FUT A MO N 39y Fg
T 9T 39l far 2
(A) Jyotisar (Kurukshetra)
SfaT (F9er)
(B) Kapisthal
EaErrc)
(C) Panipat
I
(D) Pandu Pindara
qIUg AR

56. Who was the last Hindu ruler of the Delhi
kingdom ?

feelr &7 a&y W Yo aren AW Reg
qHH et AT ?
(A) Harshvardhan

A Cro)

(B) Hemchandra
sHE

(C) Rao Tularam
ACEG CINE

(D) Mohan Singh

Ag g

10

57. Which committee has recently submitted
report on Insolvency and Bankruptcy Code
20157?

fFe #88 & ga & F Rafyas
(Freleddr Tog devad) @Rar 2015 ux
idaee Jeqd fFar § 2
(A) Shah Nawaz Committee
ATE TS FAE
(B) Ravi Prakash Tyagi Committee
S gerer canft w838

(C) Kalyan Banerjee Committee

FdT0T SIS FAET

(D) Bhupender Yadav Committee
e AT FAA

58. Choose the correct alternative from the given
ones that will complete the series.

QT a0 Reedt & ¥ a7 @ Rwey
AT S 3T R A |
5,21,69,213,645, _ ?

(A) 1670

(B) 1941

(C) 720

(D) 1320

59. In which type of d.c. machine—poles is
residual magnetism necessary ?

frg @t #T d.c. AAA-Yal # @RI
daehcd HTAeTH § ?
(A) Shunt generator
AT AT
(B) Motor
HleT

(C) Separately excited generator

3O & Scdford STeliex

(D) Permanent magnet type generator

TS g Tl FTele

2

odd word from the given
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alternatives.

R v femdt & & Rver o gfau |
(A)} Tomato
CHIET
(B) Potato
3Tel

[N

(C) carrot
ClIS LS
(D) Onion
TS

61. Choose the word that best expresses the
meaning of the underlined word :
I quite enjoyed the book but found the
ending rather tame.

(A) dull

(B) interesting
(C) impossible
(D) appropriate

62. Select the related letters from the given
alternatives.

few v fawedt F @ grefoug Rt @t
AT
BEHK : YVSP: : ADGJ : ?

(A) ZUTR

(B) ZVSP

(C) ZWTQ

(D) ZWXZ

63. Electronics is the branch of engineering
which deals with the flow of electrons
through

SAFEId, FNAANT & gg arEr ¥
i ¥ goeeA ¥ vaw @
qEfeT g |

(A) Semiconductors

AT

(B) Gas
g

11

(C) vacuum
fAata

(D) All of these
g Wt

64. The ratio of the ages of father and son at
present is 6 : 1. After 5 years the ratio will
become 7 : 2. The present age of the son is

T # R #R w @ ozm o
G 6 1 1§ | 99 a¥ T w®
AT 7 1 2 § W | 9T adA=
3 E

A)s years /5 9%
(B) 6 years /6 a§
(©) 9 years /9 a
(D) 10 years /10 7§

65. Which district of Haryana is largest, with
reference to population (Census—2011) ?

SHEar #r e & ghaor w1 gsw
T TIel et &1 § (SA0ET-2011) 2
(A) Panchkula

Tl

(B) Sirsa
faar
(C) Faridabad

LICAC I

(D) Gurgaon

LIELIE)

=

66. From the given alternatives select the word
which cannot be formed using the letters of
the given word.

fow gu fadedt & @ 38 g & ghaw
ST BT a0 ereg & HERT FT WA Fh

STel ST ST Tl |
HISTORICAL

(A) RICHES
MASTER



(B) CHARIOT
(C) CHART
(D) CHAOS

67. Khoriya is the entertainment programme of
which occasion ?

afsar fFe IR & Aes FFA
K
(A) At the event of son's marriage
TEF N A F IFET W
(B) On the occasion of Holi
gloll & I I
(C) At the Teej festival
AT & I W)

(D) On the elder's death
€AY T

68. In which district of Haryana there is no
Railway line ?
gRamom #r o S e W oA
Sl g ?
(A) Sirsa
faar
(B) Mewat
AT

(C) Kaithal
Ferer

(D) Mahendragarh

HeeGI1E

69. If 3 men or 5 women can reap a field in 43
days, how long will 5 men and 6 women take
toreapit?

Ife 3 qew yar 5 AfRO R @a
A 43 foT & Fes W TFT & O 5
o AR 6 Afgerd HH Ferg T F
ferdar war et ?

() 15 days /15 R

12

B) 20 days /20 f&=T
(€) 25 days /25 feo1
(D) None of these /$F|ﬁ' a Eﬁ's" STl

70. Electrolysis of an aqueous solution of copper
sulphate using copper electrodes gives

PR FAFET FOTANT S FAR
W%aﬁum%ﬁagam@
e &

(A) Copper at cathode and oxygen at anode.

HUE W HIT 3T ¥A1E T 3ifadismT

(B) Copper at anode and oxygen at cathode.

UAlE W 19T 3R Fos ) st

(C) Copper at cathode and anode dissolve to
give copper.

FUE W FR A W g F1w
Cr

(D) Hydrogen at cathode and oxygen at anode.
YT W gEEee IR WE w
Hierdroter

71. When a transistor is used as a switch, the
terminals that correspond to the ON/OFF
switch terminals are

STe gIoex &7 39T R¥aT & &9 fwar
Sr & af 9 <fiaa #ia ¥ ¥ S sifa-
3w Feag <ffaa & qaeT & 2
(A) collector and emitter
WAEH T 3cHAF
(B) collector and base
HUgH T 99
(C) emitter and base
389 T 99

(D) base and collector

99 T HaES

72. Which city is not a Tehsil of Gurgaon ?
HieT W AR IaNd HT TF dgieT g

MASTER



g7
(A) Manesar

A

(B) Kosali
FIE

(C) Pataudi
qeiér

(D) Farrukhnagar
FEEAIR

73. The semiconductors are replacing electronic
tube because they are

T oIS <gT B g o W@
g Faife &
(A) Light in weight
golsh 8 atel § |
(B) Smaller in size
@Y HHR & §
(C) Longer in life and greater in ruggedness
S FrE T ST Asled § |
(D) All of these
T waft

74. Which type of fire extinguisher is to be used
on electrical equipment or installation under
fire ?
fdegd 3UaOT AT FAIAEHT W 0T
WA W FE WNE & IJoAaHs &
3G T TAIfRT ?

(A) Foam type
BIH THR
(B) Halon type
e ueR
(C) Gas cartridge, water filled type
N FfesT, ST T IHIR
(D) Stored pressure, water filled type
TR &, ST 9T I

13

75. Which one of the following is a water borne
disease?

AT & Sor Jfaa Qor #l7 @ @
?

(A) Diabetes /AT
(B) Cholera /&=t
(C) Small Pox /g

(D) Malaria /AT

76. Safety fuse wire used in domestic electrical
appliances is made of metal of low

T degd 3UOT F TgEd qReT Fe
dN 38 U1 ¥ 7 giar & foeer
(A) Resistance
wfeRier A g |
(B) Melting point
AT FAEY |
(C) Specific gravity
fafRre gaca wa Y |

(D) Conductance
ATeAFHcd FHH @l |

77. Which one of the following statements is
false ?

fartifra & O a1 Fua TWT ¥ 2
(A) An ammeter is connected in series.
VAT €IS & 3T B ¢
(B) A voltmeter is connected across the load.

dlecHey I § 3T 81T ¢ |

(C) The resistance of a conductor decreases
with an increase in its temperature.

qeldh FT IO TS AT F
oA & WY "edr § |

(D) Greater is the length of a wire, higher will
be its resistance.

drR #1 e forden fgw  gef,
ghT Hia 87 3= ¥ g |
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78. Sonipat city is famous for its industry named

HANT R B 3eET & P gk &
?
(A) Cycle
gl
(B) Car
DR
(C) Cement
HAee
(D) Cotton fabrics

i e

79. K ‘ uravi is a type of which dialect ?

i,ﬁ’rﬁa—\craﬁrﬂmmaﬁﬁ%?
(A) Awadhi / 3/aeft

14

() Khadi Boli / @3t aYelt
©) Urdu / 3§
(D) Maithili / A2y

80. What were manufactured in oldest industries
of Gurgaon ?

E9a F Fe o 3@t & fraer
foaTor g3 2

A) car/ wr

(B) cycle / AT

(©) scooter / Thel

(D) Railway Engine / {o1d o7t
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10.

1.
12,

13.

14.

15.
16.

17
18
19

20.

TH U0 H T HA | U Fuan Bt o
arvafiat & fore e T

FAF T T g B AR gE wva & A WiRe 3w qEe v 2 E

TR-0F F FW T A Teo FUA ST oF B QR A 59 16 956 3 T OMR 3o TF T FR A By s &)
e & S & B olten TE A @ o fee % sew gt X o B e qRde AR OMR 3cR T3 & W 755
aﬁﬁmmg%aﬂtsﬁmsﬂqmﬁaﬁraﬁ@%l OMR 3t 93 U9 T gohoe (IRaw) & difae 7. u-
A E ART) R o T Ay R orw T @ el @ oRdie ¥ 0w geee HX OMR 3o 999 qaer A
ART| T YR B & dfg BT gedTe OO RierEt W R A6 R e

8 ETH I OMR Il TF & T 3T Uef ol @t o 37|

TRA-GRETH AR OMR 3eck 99F & Bl o gs5 &) a7 af w1 3y o A1)
mfﬁu’raﬁwmmr-wmm%,mwmﬁrﬁzﬁmmhﬁﬁmmmﬂwfﬁwmmaﬁ B
mrgw%l‘zwﬁaaﬁﬁnﬁmﬁaﬁﬁhﬂ'&mmﬁmmm%maﬁaﬁﬁfﬁrmmgquﬁ?ﬁ -9,
S & sfder dgdew, Aderar oREw-TE, HUR w1, TEAE A F ¥ A v e Few R A A B g o
B W 3l Y qlemaen F s B e i & S
g@?ﬁ%ﬂ?aaﬁ%ﬁmﬁﬁ;sﬁﬁOMRm-mﬁm,ﬁa#.mé?em‘caﬂ-s'm&m

=]

wmmﬁ@am%mwﬁmwmﬁmmmfm%ﬁn@mm
m%m.s@rmaﬂ%#mwgﬁzaﬁammaﬁrm O HT HeATwd Al [T
R 8t 9ot 1 R o 9@ B W el wd @ oRoTHET Y s & T Searer

T - F HaS F1 IR Ao -3t 3w Gt gy F IS 7 s SURURT 9FF W, OMR
e 93 W AR A el o 39 3Rk sRa wue o s o e
qﬁm—wﬁqﬁﬁm@rmﬁmﬁmﬁmﬁwwama&mwmm%maﬁ%a?ﬁmﬂaﬁr%“l
FeAEE & A & I E F Y OMR 3cck-93& # el Y TR 1 3icTraea® et o ard 3K 7 & s@ AE|  OMR
3o v A 0 3l foee 3t ae & muTe 39 et & T wE |, aww, s, whe ave gery / aisesk i @7 s ar
Wmﬁw#s@aﬁ%wm%&ﬁ@sﬂaﬁwﬁﬁmﬁm-mmOMRsmWﬁuc—q*qs‘aﬁw,
T & R g o A & @ W et fr 3nafiar 3K OMR 3eeR TEE A & e % Ru s
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SR, YT 3T forar m%ﬁ%ﬁm@@m&aﬁﬁﬁaﬁmaamﬂﬁ‘mﬁqaaﬁﬁrsaﬁwm%m
$1 SR I FMHTOT eS| 3 AT & W Rl o rerelf Y oRemw  -gfer O waw et T SWCI| GRET FE F 3iex B
mﬁ*wuﬁ%%m@ﬁﬁém%ﬁmmmm%,wm%a’rsﬁﬁuﬁﬁmﬂvw
mm&f‘ﬁrmﬁm@rmﬁmﬁwﬁmmaﬁw#aﬁaﬁmﬁr@aﬁnﬁﬁmﬂaﬁwﬁm
M A S| OMR Il e W et & fov W5 , AIGe, w5, ¥he o’el Terd /g R & 9T Jvear B e
TN § & T T AT 1 OMR IecR 9 I @1 omean 3N 4% OMR 3eeR WE & HodieheT g AT S|
mﬁm#f'ﬁﬁwﬁm-mﬁmrﬁmmeﬁ$yﬁﬁw,ccwm,armﬂ%d?#ﬁﬂ\%a:ﬁamm
3YRPAY 3w, B Wi, AT AR SR F @ R AT F A e I AFT T TF AR TF et F w91
FE TET TIET 7 & Tl
qlEn-shen # aRade a1 odengier F Me & wRad F w@@er F B o 3wl & g W AR a8 R )
qﬂa’rwaymmr-wmmwﬁmﬁmmgumwmmmﬁ#ﬁmm|ys:raﬁam
U PIET & HAT IR TG F e o SR A i 9 A O rerelt B o #F vder A ey et &
St 3R gg 3rRIfaE AT & gy g
$9 OMR Sead-9aa &1 ofier il §, e wfer, 3mmer wfey va st ufd| o e 3reer 7 %1 OMR 3ceR 3@ &1 et
gt & el &Y 3erT-31eT HIe o HY| 3T T WA A W 3 TH.IR, Seak-a7F At 9ig 39 B R e
AR i G el ofer e AR G@RT ST Ak 3 & & Sl el S @Y S e gReew B o o
T El
Tcdeh 9T & TR dhfeus 3ok QU a0 & ot § Fad oF @8 &1 9AF T & el & [T OMR 3K 996 & ¥aef 39
U Aol P AT F I &N B T T WD 3ok @A &1 I§ IGH AT G@RT IIAY FT T dhael Aot AT F SFer-97
AT | el # S F e 9faer &1 gaer A8 weer ¥ AR fedr 3eR & T @ et @ mer T g & ar 39 3R &

Tehel Tl fadT SITQam)
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. 9% 3ea’- i Y ST FelFiiele ThiAd FETH ¥ A SN IR AT TN SRS W INIH SeaeIIF FAT & Fh B

. WAET HTaRTF AROT FEUEAEF Scae-a3F § #TT §) Scl-J9e & deold 7 At 780

. Sl F E Aen/Ae B ES FHT A R T H G M B QY AR N9 o F 30 A B Fer w0 Ear smar
3 Y IS AT S0 3R QY Icak T FedichsT FET &)

CORRECT METHOD / Wt s/t WRONG METHODS / 7T a1

0] _GIC, olofclelol: lclololloloMolelele

Al Py A STF AT T UToT AGH FAA & AT IHATHT T el § Al HAWT WHEAAR 365 [4%€ HILAET
3N o HARed 3wy F & T el THETH QA s dRT PR o AT ¥ 36 Reg HRIRE SRR & S o o
forar ST Gear ¥

:
i
i
:
§

15 MASTER




DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO

Pad', ,ll, ""0 ‘ls &7 IR #) #e T 7% 7T @ 5T T FE T AT

TEST CODE : 3/2016 Booklet Sr. No. MASTER

Category No. : 01

Candidate's Roll Number / 334t &1 O« dArax

EVENING SESSION

Time allowed : 1 Hour 15 Minutes Total Questions : 80 Maximum Marks : 160
fAuiRa g8 : 1 ger 3R 15 @=e Tl W : 80 FftrhaH AF : 160

N —

0 5 09

10.

11.
12.

13.

14.

15.
16.

17.

18.
19.

20.

KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

Attempt all the questions. Every question has equal marks viz. 2.

Before attempting the question paper kindly check that this booklet has total 14 pages & OMR Answer sheet consists of three copies. At the start of
the examination and within first five minutes, candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly
printed and test booklet is not damaged in any manner. Serial No. of OMR Sheet and Test Booklet match with each other. In case of any
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using Eraser, Bladle, Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be cancelled.
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E€VENING SESSION

1. THEFﬁEFORE is to TEEQOERFRH as HELICOPTER
istol _?
THEREFORE &T TEEOERFRH & @Y q9Y
& SN HELICOPTER I g6 d __?

(A) HELICORETP
(B) HLCPERTOIE
(C) RETPOCILEH
(D) RETPOCILHE
2. In H?ryana, on which occasion, Kothali gift is
given ?
gREwm # FUA 3R HFE IFE W
g S § 2
(A) Holi
aﬁ@-
(B) Teej
et
(C) Diwali
&rarelr
(D) Makar Sankranti
HE Gehlledd
3. Wth least number must be subtracted from
1936 so that the remainder when divided by 9,
10, |15 will leave in each case the same
remainder 7 ?
1936 & ¥ FleT & S ¥ DI VAT TS
et Forer s A v orr 9, 10, 15 & RismforeT
RT ST Y e Pty 3 FareT A9 7 9l 2
(A) 63
(B) 39
()44 |
(D) None of these / §T81 I SIS Tal
4. The} idol of Lord Vishnu laying on Sheshshayya
(snake with multiple heads) is found from
which place of Sonipat district ?
JuRRAr R W s fasp @ Ak
HiTa forer # Fel § 9o g8 © ?
(Aj)jGohanan

METAT

(B) Fajilpur
wIfSTrgR

2

(C) Kharkhauda
wI@ter

(D) Mohana

G

5. Select the substitution that best expresses
opposite meaning of the underlined word.
Some democratic countries believe in racial

segregation.
(A) subordination

(B) integration
(C) inferiority
(D) domination
6. Meningitis is a disease which affects the
AfeoTeRy T Faed THTadT T §
(A) Kidneys
CEED

<
(B) Liver
Johd

c

(C) Heart
gad

(D) Brain
AfeasH

7. Which of the following is known as a metal
rectifier ?

Rrifra & @ e Org Rsewd we
ST g ?
(A) Gas tube diode
I zg@ sHE
(B) Silicon diode
Ao s
(C) Copper oxide rectifier
atar siferamss Rvewlt
(D) All of these / & T3
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8. What energy is converted into sound energy in
loud speaker ?

o138 T A FaT A For eafey Far F
wraia gl & 2
(A) Mechanical vibration energy
AIF FIT Fam
(B) Electrical energy
Rega sat
(C) Light energy
T FaAT
(D) Heat energy
arg Far

9. Which district of the Haryana is leading in the
production of Mushroom crop ?

GFil BH & 3cdlea # RATOT F He
ar TS 3ol § 2
(A) Ambala
TFTT
(B) Karnal
EXGIE
(C) Hisar
fFER
(D) Sonipat
AT

10. Sarveshwar Mahadev Temple situated at
Kurukshetra was built by whom ?

Feard U adear #Agea Afee fraar
FoIdTIT AT ?
(A) Baba Shravan Nath
qET HEUATT A
(B) Baba Haridas
greT gRerd o
(C) Jugal Kishor Birla
SpETer TR foger A
(D) Baba Tarak Nath
6T IREATY o

11. In which district of Haryana, horticulture of

mango is not done ?
ERAUT H 3T T JeEEy fBra ooy &
g gIelr ?

(A) Yamunanagar

JHATAIN

(B) Karnal
ATl
(C) Mahendragarh
HeweoIg
(D) Kurukshetra
GRE]
12. The metric unit of magnetic field intensity is
SeHT 87 daar § ARF gHE Fr
(A) Weber
CCry
(B) Gauss
e
(C) Tesla
e
(D) Orested
HREES
13. The law which states that the induced e.m.f.

and current always opposes the cause
producing it was presented by

39 e & vfdues @l § s
FTAR IRT emf 3N e gaem s
3cUTesT &hiel dlel HROT HT Y Hid &
0

(A) Lenz
oot
(B) Faraday
LU

(C) Maxwell
Hergdor
(D) Ohm
e
14. Which one of the following single—phase
MASTER



motor perform with better power factor ?
fwifeT & @ #7 & wavs A
JEaT MRS TR @ FR A 2
(A) Universal motor
SHAYNT AleT
(B) Repulsion motor
wfmdor aex
(C) Capacitor-start motor
FAfderere Ay
(D) Capacitor-run motor

FAfReTIT Aex

15. The principle of operation of an induction—
motor is based on

WULAlY & aRare g fFa «
IreiRa § 2
(A) Faradays law
s forer
(B) Rotating magnetic field
guit Jafig aa
(C) Flemings right-hand rule
(D) Ohm's law
HH former

16. Kali Kamali Wale Baba ka Dera is at which
place in Haryana ?

ERATOT H el FHHAeN arer 6T &7 T
e T W & 2
(A) Kaithal
e
(B) Pehowa
ggrar
(O) Kurukshetra
(D) Jind

17. The longest network of Pakki roads
(developed) in Haryana is in the district

ERAVT & TR wEF i W s
TS R o 7 R 0
(A) Hisar
fear
(B) Bhiwani
Ao

(C) Kaithal
P

(D) Panipat
IGIEG]

18. The liberation of electrons from the surface
of a substance is called

(A) Bombardment of electrons
Solgglal I FHIRY

(B) Electronic emission
gATCIeih ScHolT

(C) Movement of free electrons
HAFT SATCIel T FaeleT

(D) Thermionic emission

GIEIRIEE T |
19. Same weter @ a ey 0
(A) Jpar
(B) far=i=or FaT
(C) gre @
(D) faver ear

20. Externally, the magnetic lines of force travel
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IET T H, I H YIhT A T
¢
(A) north to south
I’ & gflyor
(B) south to north
cfaior & 3cek
(C) negative to positive
fafea ¥ vioRka
(D) in both the directions
aler a3t A
21. zeoqer T el T ¥ 2
(A) greme

(B) geger
© z=fa
D) garfy

22. Contribution of which district of Haryana
during Revolution of 1857 was most ?

1857 & Hifed & gRIOT & FE oo
T ANGIT T ?
(A) Gurgaon

AV

aSIMa

9

(B) Rohtak
AgeTeh

(C) Hisar

(D) All these
¥ gl

23. When was ‘Skill India®, an initiative of the
Government of India was launched by Prime
Minister Narendra Modi ?

T g R SRAT (Pl 9RA) 9
YE T A7 A ?
(A) 21 November, 2014
21 Fds, 2014

(B) 25 September, 2014
25 f@assy, 2014
(C) 15 July, 2015
15 STelTg, 2015

(D) 21 November, 2015
21 AGST, 2015

24. An ideal current source should have
ey Fe BT § F7 g ke ?
(A) Infinite resistance
FeieT gfaiy
(B) Zero resistance
AT WicREr
(C) Infinite capacitance
37 enfar
(D) None of these
$oTH / PIg G
25. The bit of a soldering iron is made of
TresRer g & 3 (Fe) Fradr T
g g ?
(A)iron
CIH|
(B) brass
qrder

(C) copper
%)

(D) stainless steel

A H T
26. 31ToT AT T WET G FAT 2
(A) 8
(B) w1 818
©) a5 wE=t
(D) B¥er sm§

27. Which one of the following is not a reason
responsible for fire ?
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Fetfea & @ F9 @ 3mr F 1 sror
Tl & ?
(A) Wrong fuse rating
TeRT HgA X
(B) Loose connections

crel haerere

(C) Damaged insulation between the line and
neutral
qMET T Fggd F A afoeed
SRR

(D) Reverse connections in a 3—phase motor

3-%ef AR A Ra¥ wadwerer
28. Which State has the largest number of seats
in Legislative Assembly ? ,
faurd @ 7 e 5T A geww wEw
qarae § ?
(A) West Bengal
9. ST
(B) Maharashtra
HERTSC
(C) Uttar Praclesh
Foe X
(D) Bihar

foer

29. The frequency generated by a 8-pole
alternator rotating at 600 r.p.m. will be

600 rpm W gHA Tl 8-EF HeelleT
CART 3eqTfed 3ngfed fehcsr giaft 2

(A) 20 Hz

(B) 40 Hz

(C) 60 Hz

(D) 80 Hz

30. Optical fibres are based on the phenomenon
of

YRR A e afteesr w 3menRa §

(A) Interference

cafaenIoT

(B) Dispersion

gR&qur

(C) Diffraction
ICEGGE

(D) Total Internal Reflection
qot HaRF wradw
31. The perimeter of an isosceles triangle is

equal to 14 cm; the lateral side is to the base
in the ratio 5:4. The area of the triangle is

fereh arefaaTg Persr 1 oA 14 em &
SR & | 3TUR A 3HS TRE T 391 5:4
¢ | F81eT o7 8w e Rhae 7

(A) -Fl; 21cm?

e

(B) %«.ﬁ—lcmz

©) Jf21cm?
D)2 .21 cm?
32. The process of conversion from a.c. into d.c.
is called
ac. ¥ do # FUGIOT FAT FHgalldar § ?
(A) Amplification
gaeel
(B) Rectification

fasesor

(C) Modulation
Aol

=
(D) Factorization

EIYUGECER)

2

33. The tool generally used for cutting small
wires and cables when they are close to the
terminal is
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cfATe & fAde ot e art 3k et

F FeAd F BT wEak w g
3YFROT T TINT fohar Sirar & 2

(A) electrician knife
SR a1
(B) diagonal cutting plier
(C) combination plier
AR SRR
(D) scissors
ety
34. The advantage of nickel—iron cell over lead—
acid cell is this that

-t A ¥ goem F Hever-oer
AT T AT ATH & 2
(A) it has a higher efficiency.
SHH 3TT eI gt ¥ |
(B) it needs less maintenance.

$OA FH @@ A ST ot ¥
(C) it is much cheaper.

I FIHT TEAT QI & |
(D) it gives a higher e.m.f.

Ig 3T emf 3ar § |

35. You note that a d.c. motor starts with jerk
when starting the motor. What may be the
fault for this effect ?

U T & A A FS GAT de
HX Feh @ e BN §, SHAT FAT
$RUT g FHaT & ?
(A) Line voltage too high
T 3T AT dlecol
(B) Short—circuit in the field winding
AT F3o o aE-afe
(C) Pitted starter contact terminals

afda Tt #1 efieer ¥ o9&
(D) Wrong grade of carbon brushes

TSI I F Pl 2
36. The sensitivity of a voltmeter is expressed as
dleeHiey & Taeadlerar o sqeq
& ST & 2
(A) volts/ohm
drec/3NH

(B) ohm.volt
3HiA.aee

(C) 1/ohm.volt
1/30H. dree

(D) ohms/volt
HA/Aee

37. The length and breadth of a rectangular
piece of land are in ratio of 5:3. The owner
spent X 3000 for surrounding it from all the
sides at ¥ 7.50 per metre. The difference
between its length and breadth is

fohalT ITIATR sT@vs fr oS T e @
HAI 5:3 § | 3Tl 5HF e o
qREf FX 750 g M. M T RS F faw
¥ 3000 G YT & | 3T TS g e
H3arFarg?
(A) 50 m /50 #Y
(B) 100 m /100 #r
(©) 150 m /150 #

(D) 200 m /200 Y

38. Which type of resistor is used for over
voltage protection ?

I deedr e & fav f5e =g &
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AoIEeT & w2 Rear e & 2
(A) Sensitors
Afeaex
(B) Thermistors
gfieex
(C) Varistors
It
(D) Light dependent resistor

YeRTer ATETRT IeEex

39. The circuit breaker which does not contain
any serviceable part is known as

dE Hihe FF FAT Fgelldl § Toes
afaq = TIF FS gt €T ghar ?
(A) Oil Circuit Breaker (OCB)
e afhe S (OCB)
(B) Miniature Circuit Breaker (MCB)

fAfada afee 3w (MCB)

(C) Air Circuit Breaker (ACB)
TI gihe ST (ACB)
(D) Air Blast Circuit Breaker (ABCB)
TN ST Afhe ST (ABCB)
40. Choose the alternative which best expresses

the meaning of the given idiom/phrase.
To throw cold water on

(A) talk frankly
(B) to abash

(C) to ignore

(D) to discourage

41. Two of the fugitives managed to remain free
by adeptly avoiding the of the
police. (Fill in the blank)

(A) pursuit
(B) discovery
(C) following
(D) expression

42. Who was the First President of the Indian
National Congress ?

3f3Te AT FIT F gUH vemey P
&9
(A) Jawaharlal Nehru
STATE AT AEw
(B) W.C. Bennerjee
seeg A, ATt
(C) Dinshaw Wacha
feerert arar
(D) Sir Surendra Nath Banerjee
T Yooy degsit
43. Surajkund was constructed by whom ?
oS H1 AT fFad g s
Iqr AT ?
(A) Surajpal
Il

(B) Mahipal
HigaTer

(C) Hemchandra
gHEeG

(D) Harshvardhan

g¥ageT

44. In Haryana, at which place maximum number
of Iron pipes is manufactured ?

ERIOT H AR & UBY FT gaitw
fo#ToT gl grar & ?
(A) Sonipat
e
(B) Faridabad

LRI

(C) Gurgaon

LERIC]

-~
(D) Hisar

fear

45. Which river is not flowing into the Bay of
Bengal ?

MASTER



P @A T T F oyare
el gl § 2
(A) Tapi

ardy
(B) Cauvery

Il
(C) Gomati

AT

(D) Brahmaputra
ERZNE]

92

46. The type of slots used in armature of a high
voltage d.c. motor is

3T dieedl drell de. Ay & 3R &
fFe e & @Y 1 AT RBar sar §
?

(A) closed type
s S
(B) semi-enclosed type
Y Aol TFR
(C) open type with dovetail
ST ¥ WY G TR
(D) open type with tapered slot
aRe @i & AT g TR

47. Sur Samman Award’ is given to the
outstanding talent in the field of

W WA R R a7 A fRAflse
gfdsr & AT yg= fFar Smar & 2
(A) Sports
el
(B) Literature
wifgea

(C) Agriculture
FY

(D) Cinema
faaT

48. Choose an alternative which can replace the
given sentence so as to communicate the

same meaning :
The state of being unmarried.

(A) bachelorhood
(B) bigamy
(C) monogamy
(D) polygamy
9. 3 AR T W F oGEr e
fawreT Tae #T |

(A) gfrem & wgar |

(B) gYerT cqagR e |

(©) F7oe T eremant a1 ¢ |
(D) sreater forsror

50. The PTC resistor is called as
PTCfGex &1 sgamar & 2
(A) Thermistors

yffirex

(B) Varistors

aRE

(C) Sensitors
AfeweT
(D) LDR

S1. Which is not the passive components from
the following ?

ferfda & & #la @ [T ges
el g ?
(A) Resistor

Hareex

(B) Transistor

eIforeeY

(C) Capacitor
Ffix

(D) Inductor
S5FX

52. What type of core is used in a transformer
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designed to work at high frequencies (MHz
range) ?

3% AEfeTdl (MHz Iod) W &1 aer
& v Bmsa v arv gawR & frg
NG N AR HA & O Jrar & 2

(A) Aluminium core

TegAfATH FR

(B) Iron core
#ET R

(C) Air core
g PR

(D) Open type iron core
G ST FH AET HR

53. The armature of d.c. generator is laminated
to

de. IR & IR =t afRg Bar
ST & ?

(A) reduce the overall mass

AT GUATT Pl HH Fl & faT

(B) insulate core

PR HT Srgelc HA & faT
(O) reduce the eddy current loss

R YURT &1 FT &7 367 & Qv

(D) All of these
T e

- FIET TG FT HEr T FAT F 7
(A) g & g |
B) 51 Aearr |
(©) e g |
(D) sffe & g |

5S. Where Chaudhary Chhoturam was born ?

IR BIEUH HT SFoH T Hief AT § ?

(A) Kheri Sampala
QT Figer
(B) Garhi Sampala

10

T T
(C) Sanghi
Frelr
(D) Hasangarh
gde1dlg

56. Which award is given by Urdu Sahitya
Academy for excellence in Urdu Literature?

3§ WMiecd e q@rT 3 wfeer &
faRrear & v sld @1 R R
ST § 2
(A) Mirza Galib Award
ma‘rmﬁagw
(B) Urdu Sahitya Ratna
3¢ ATy Test
(C) Hali Award
gTell WEFR
(D) None of these
$oTH 0 IS A
57. Who has been crowned as the FBB Femina
Miss India World 20167

FBBGIA-T fa sfEaraes-2016 &
arerarelr frer fr a1g 2

(A) Namrata Sharma
STHdT QAT

(B) Priyadarshini Chatterjee
RragfiE desit

(C) Pankhuri Gidwani

(D) Sushruthi Krishna
A Feom

58. Which one set of letters when sequentially
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59.

60.

61.

plafed at the gaps in the given letter serjes
shall complete it ?

3T T HleT T HoAg Wrell 1=} )
T W &) 91 3ETT T Y T 391 2
_ab__b__aba___ abab

(A) abb aa

(B)bbaab

(C)abaab

(D) a aaba

Gas—discharge lamps take some time in
illuminating fully. Which of the following
lamps takes comparatively more time in
illuminating fully ?

WWTWWW@WJ#W
FFFI#T??T g ﬁmﬁ@aﬁﬁm
ﬁ?‘# T aE ¥ S 7 GEEIGEEZR )
@MFW@'&T%"

(A) Tube lamp

e oFT

p

(B) Mercury vapour lamp

FHY dW AFg

(C) Sodium va||pou+ lamp
3w dew

(D) Neon lamp

ol s

Find the odd number from the given
alternatlves

4y ?ﬂtf faweal 7 @ fava dear g |
(A) 125
(B) 789
(C) 236
(D) 347

Cho}o#e the word that best expresses the
meaning of the underlined word :

We repeatedly asked the girl why she was
crying but she said that she did not want to

entaqgle us in her affairs.

(A) entrap
(B) imﬁress

11

(C) involve
(D) induce

62. Select the correct alternative.

& [AFeT 1 79T AT |
C3F6:19L12::K11N14:?

(A)O15R 18
(B)R18U 21
© Q17120
(D)L12015
63. An emitter is generally called

3cHol @ AR W FAT FaT Sar B
N

(A) Anode
s

(B) Cathode
Uz

(C) Grid
DK
(D) Drain

=T

64. Kamla got married 6 years ago. Today her
1
age is IZ times her age at the time of

marriage. Her son’s age is (1/10) times her
age. Her son’s age is

FAET F faarE 6 ¥ T g3 | I 3T
37 366 AaE FEATH 3T Y li—ﬂm%

| 38 T T 37 36T 3 & (1/10) TR |
3AH AR 3G

(A) 2 years /2 a¥
(B) 3 years /3 9%
(©) 4 years /4 a¥
(D) 5 years /5 q§
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65. Bahadurgarh city is falls in which district of
Haryana ?

Selgele IR ERAT & frw O &
Jeclald 3T § 2
(A) Jhajjar
soiy
(B) Rohtak
UgcTh
(C) Faridabad
(D) jS{jJnipat
66. Fr]orﬁ the given alternative words, select the

word which cannot be formed using the
letters of the given word :

FAfaf@d fawedt # § a5 wse gfaT, S
RT 71T g ¥ ERT FT T F A
SelTaT ST HéhaT : REHABILITATION

(A) ALIBI

(B) BATTALION

(C) BILLION

(D) BLATANT

67. Which Rishi's abbey is situated in Asthal
Bohar ?

AT AT H Fg 7N FT A § ?
(A) Chyawan
TGl
(B) Kapil
(C) Mast Nath
HAETAY

(D) Ved Vyas
deeard
68. Famous Phalgu fair is held at which place ?
g el @ A BE WA W
IS grar & ?
A) F#lral (Kaithal)

12

e (FYe)
(B) Tarawadi
GHEE]
(C) Fatehabad
GG,

(D) Pathri
qrerRy

69. The average weight of 50 balls is 5 gm. If the
weight of the bag be included the average
weight increases by 0.05 gm. What is the
weight of the bag ?

50 J1eT T A 7R 5 gm § | IS Sy 7
goteT 3 5T enfAer [Far se at 3ira R
0.05 gm & §¢ ST & | dor & AR AT
Hfow |
(A) 5.05
(B) 6.05

. (C)7.05
(D) 7.55

70. Which of the
compounds ?

hieT O 31ThT T i ST AhelT £ 2
(A) Helium
PG

(B) Xenon
Sheter

(C) Krypton
forcera

(D) Argon
Einic)

inert gases can form
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71. The connection of a zener diode in a circuit is
always

#fdc # FR T & g amer
g &

(A)j ) series
Sofy F

(B) reverse—biased
DT I H
(C) forward—biased
RIS
(D) in parallel
HAaT &
72. Which is the State Bird of Haryana ?

SRATOT T i qelt le a1 & 2
(A) Hawk / TT5T
(B) pigeon / e
© Bl%ack Fraricolin / &relr e
(D) peacock / AR

73. The acceptor type of impurity is
VFHTER YR Y IRIRg AT & 0
(A) Phosphor

PIERT

(B) Freon

© quon

(D) None of these

gt ¥ N
74. The specific resistance of a substance
depends on

el e # QR gfoiy e 9T
R war & 2
(A) its length

ESETICEIE

(B) its cross—sectional area

13

S HAICYHIC &7
(C) its kind of material
SHN HIHIAT T YFR
(D) all the stated factors
¥ @t FRE
7S. The element used for making solar cells is
TR A & JaF & fh deq a1 ga@T
gl § 2
(A) Magnesium
IR
(B) Sodium
afsaH
(C) Calcium
Hieaas
(D) Silicon
fafesE
76. Which one of the following is called the
digestive bag in the cell ?

FIRE 7 T & T FiT o o I
(digestive bag) FgelTar & ?
(A) Golgi body
Mot S
(B) Mitochondrion
ATgIhITUZAT
(C) Ribosome
SEEIR: o)

(D) Lysosome

ASEIAT

77. Impurities in an electrolyte can cause an
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internal short—circuit condition called AT &gl 74T g2

| . & mm ¥ g awh (A) Neel Guy
IaRe arc-ufhe Rufy s sgart § o

(A) depolarization (B) Murrah Buffalo
TAgawT e

(B) electrolysis (C) Black colored cow
Rega-3rqaes el o1 Y a1y

(C) local action (D) Goat
vuifas R CET)

(D) polarization
eIgqoT

]

78. The festival of Makar Sankranti comes in the
month of

AL Hehlfed Ua Fg A8 o mar § 2

(A) January
Steady

(B) February
LG

(C) December

gt

(D) March
AT

79. The couple performing Inter—caste marriage
in Haryana is paid an amount of

Iedady fJae Fet aer grafea &
ERAVT A fohcdelr TRY & S & 2
(A) one lakh rupees
U+ AT
(B) seventy—five thousand rupees
¥ Jagcal g9k
(C) fifty thousand rupees
UAOTH gk
(D) no grant
HIG Igare el
80. Which milch animal is known as “Black Gold®
in the Haryana ?

fhe guRe 9y H ERIOT H C Hem

14 MASTER

Download from www.MsEducationTv.com



SPACE FOR ROUGH WORK

15 MASTER

Download from www.MsEducationTv.com



mmm?%msﬁmmm#maﬁ@%i OMR 3ccR 99 U4 &FC gdheic (feae) é?%ﬁﬁ'a?ra.t[;:-

WET| TieT g @
3 %g@awaﬂwommm#mmﬂwwﬁf@masﬁf
4 WETARTH ST OMR 3R o3 & Rl off Iv5 &1 o o Wi 3 o A

5. mﬁi'q’raa‘rwqa;ﬁtrmr-q?m%,ﬁmwmﬁr#@mwﬁﬂammwwmmmaﬁ B
forar gam &1 5w wer = R SR G@RT gATO

Bl q¥ 3Tt &y

3. It et & s R Y OMRm-mﬁmﬁwmwmwﬁamaaﬂrﬁﬁtﬁﬁsﬁﬁﬁl OMR
mmﬁm#ﬁaﬁaﬂrmﬁ#wwﬁﬁeﬁ*%m,m.m,mmmfmmwmm

§
g
5
g
|
7

JTHwoT 3
%ﬂ%wﬁn@%mﬂﬁﬁﬁéa&g%m@wm%m%,wm%msﬁﬁaﬁmmﬂrm

10. ol ot & deror & o Fe F wdwr ¥ g qemht F 3R , CCTV &a, st a7 & 3N & e aex

11. e #H gieder ar

12. qﬁﬁmmmuﬂwr-wmmﬁaﬁm#mmﬁ*ﬁmﬁmquﬂaﬂﬁﬁmm&ﬁ#ﬁmmm 3t it

13. ¥ OMR STcR-a@ &1 it wicll ¥, a7 iy, amer ofey wdf st iyl oo sperfy 3emr 7 781 OMR 3R 99 &) st
Sferdt & e T SFET-30T Brem 7 FY1 I3 THET FATCT B GT I A 37T 3el-a9e oAt it #r 3reer R R e
qﬁﬂmﬁ@hémmmﬁqﬁmeaﬁmmmsﬁ%aamlmwﬂqﬁmquﬁmg%maﬁﬁm

gl

T
14‘mqﬁ*wmﬁrmm%ﬁmﬁﬁmwaﬁ%lmmaa;m#m OMR 3cai U3 H shad 39
Wmﬁﬁﬁﬁmam%mmaﬁrwmﬁﬁlu’gmmmemm;ﬁﬁmmaﬁ-ﬁHﬁ
aﬂmﬁlmﬁﬁmaﬁﬁvﬂﬁqﬂwmaﬁm%luﬁﬁ;ma?mé?%vazﬂsﬁaﬁmﬁww%?ﬁmmw
el @ fRaT STaam|
15.% mﬁha&ﬁwmm*mmmmmﬁﬁmm(ﬁuﬁaﬁ%m)ﬁmﬁaﬂnﬁﬁﬁﬁmﬁl
16.mmmmﬁ$TommmmmgﬁﬁMHﬁ%|uﬁﬁé OMR 3¢X 99 @rell % 18 ar IR e 39 I
"ﬁv“a:ﬁa;qealamﬁ—«rrmwéﬂa#hmw"ﬁm'ﬁ@év’n
17.msiw-wﬁahsﬁaﬁﬁwﬁ:ﬁﬁm#ﬁm?mmmmmwmmmﬁmh
18. FAET HIaRIF a0 HEUENEs Seal-aad 3§ 3Redl §| 3cal-T0dF & aeeld & 3wy 48 3|
19. I & FE aNeien 1 G W A R T F T Mool # @Y A G F 5 e A wTr S E A
I FY el AT SN AR X Iea) HT HodiwaT A8 @9

T V-0 1 T B | R Har e @y u
snataar % fore vy fser

YAF 9o & AT Auifa s @aer et 2 #
Fo ST o B qRaw ¥ F 16 7 3R w OMR 3cc¥ 93& offey 1ol arerm &1 3reaf¥it

'@mﬂﬁvlsﬂ%aﬁlﬁzﬁrwﬂa’rmgﬁmwﬁﬂw -,
e A & A v TR -Few W AT HEE ¥ s A

g
]
.
g

‘mﬁ?ﬁﬁﬁar—wwﬁmﬁ#m&wm%mm#ﬁamaﬁ?!

T T Y ¥ & g F wal @ Seaw -9 @ OMR e 9% A Usd 92 @ W,
A W el A AT #ROMR 3eat o3 @t & ReT a1 R S
9 T, Faee i, BRY o v oo, dee, e a1 uR wae o, O, A,
Wmmﬁaﬁaﬁaﬁmaaﬁ?@ﬂﬂ,mﬂm@rsﬁmmm
§ aEIIHT & WY fREr 9 reeft F qfanr -gler & wawr ET o Siwan| g -wer & 3iEw B

p-

CORRECT METHOD / &t 7/ WRONG METIHODS /7o 7is

®eOO OFOO OROO ®OO00 ®OO®

20. aﬁmmwsggﬁﬁﬁwwaﬁm%mwmmm%ﬁ&mﬁaﬁaﬂmﬁwm@m

IR s0F HfaRea 39
T &1 gerar &)

ﬁﬁaﬁaﬂﬁmﬁ#sﬁdﬁaﬁmmm%lmﬁwmmwwmaﬁ

16 MASTER

Download from www.MsEducationTv.com



